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	f(x) = x2 
	f(x) = (x + 1)2 
	f(x) = -x2

	f(x) = 3x2 + 1
	f(x) = (x - 2)2
	f(x) = -2x2 + 3

	f(x) = x2 – 3
	f(x) = (x+1)2 + 2
	f(x) = -.5x2 – 1

	f(x) = x2 + 1.5
	f(x) = (x-5)2 - 3
	f(x) = -(x+1)2 - 2
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	f(x) = |x|
	f(x) = |x| + 2
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	f(x) = |.5x-4|
	f(x) = |-3x + 5|
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	f(x) = x
	f(x) = 2x
	f(x) = -x

	f(x) = x + 2
	f(x) = .5x
	f(x) = -2x + 1

	f(x) = x – 3
	f(x) = .2x - 4
	f(x) = -3x – 4

	f(x) = x + 1.5
	f(x) = 3x + 1
	f(x) = -.5x + 3


(these pages should be copied front to back onto cardstock and cut out)

Graph Sorting

Look at the function side of the cards.  Sort the graphs into different piles representing similar looking functions.   

Try to sort them into 5 groups. 

What are the defining features that cause you to put a function in a particular location?

Name the functions and give an example.

Look at the graph side of the pile.  

What do you notice?

What words would you use to describe the shape of the graphs?

On the worksheet, put one example of each of the four that you looked up.  Under “name” put your nickname for the graph. (Teachers will eventually officially name the graphs, but for now a class nickname will be more valuable).

Later extensions with the cards…

Try sorting each of the piles into 2 different groups based on the shapes of their graphs.  What similarities | differences do you notice in the functions of the graphs?
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